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WIER REBEF M RERE ) TR E SR ER

% # A - BRHE By ¥ 8 i & & =
BRI 3,818,600 + 64,252 3,882, 852
EEAGHE 3,818, 600
EERE 64, 252
Z Ot R 1 3,818,600 x 53.85% ( 35% + (1 — 35%) ) 2,056, 316
RHRE 3,882,852 + 2,056,316 5,939,168
—REEERE 5,939,168 x 53.85% ( 35% = (1 — 35%) ) — 7,409 3,190, 832
EX T 5,939,168 + 3,190, 832 9,130, 000
HEGEHELE 9,130,000 x 10.00% 913,000
¥BERH 9,130,000 + 913,000 10, 043, 000




BEARRE EEBEA R () S SR BB R T

% [ BiE - BTk Bifip B B T # m B
BRI 3,882, 852
HEEETEEFENES 3, 882, 852
BTEE A AR AR 3, 882, 852
FTEERE 3, 882, 852
FIEE 203, 200
1 FHE#RE 1.00 203, 200 203, 200
=
E 393, 400
2 RHEIRHE 1.00 84,000 84,000
&
3 PRHE 2.00 84,000 168, 000
=l
4 ZRBE 1.00 141, 400 141, 400
&
HEEEGTEEER 2,935, 500
5 BRINEEE 1.00 1,932, 000 1,932, 000
=
6 HIFEELANILDEE =R BhK R 1.00 693, 800 693, 800
=
T HBFEEAEEER BEY (I 1.00 309, 700 309, 700
=
BEY 286, 500
8 EBRTHREEM 1.00 286, 500 286, 500
=




BEARRE EEBEA R () S SR BB R T

% [ BA& - AR Bifip B B ' # " =
EBRARE 34,252
9 EHERARE 1.00 34,252 34,252
=
S 30, 000
10 2R 1.00 30, 000 30, 000
=
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REERA XK G TR EEERRS

&5 1
2 FTEERE 1R
2 [ R - BKTE By = B O{H £ % 5 &
F{EEED BRED)
A 1.00 57, 400. 00 57, 400
A (A)
A 1.00 51, 200. 00 51, 200
AR (C)
A 2.00 32, 800. 00 65, 600
BT &
A 1.00 29, 000. 00 29, 000
& B YEEREH : 1.00 203, 200. 00 203, 200
=5:2
2% . BRIHE 10
% E A - kTE B = B {f & &R i &
AR (A)
A 1.00 51, 200. 00 51, 200
A& (C)
A 1.00 32, 800. 00 32, 800
& it YEZEHREH : 1.00[H 84, 000. 00 84, 000
=:3
ZF : hEHRE 18]
% E A - BkTE B = B {f & &R i &
AR (A)
A 1.00 51, 200. 00 51, 200
A& (C)
A 1.00 32, 800. 00 32, 800
& it YEZEREH : 1.00[H 84, 000. 00 84, 000
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REERA XK G TR EEERRS

&BES:4
2 RE®RE 1@
2 L R - KT By H E B O{HE & %8 5 &
F AR GRED
A 1.00 57,400. 00 57,400
HEm (A)
A 1.00 51, 200. 00 51, 200
A& (C)
A 1.00 32, 800. 00 32,800
& it YEZEEH - 1.00[E=] 141, 400. 00 141, 400
5:5
B BHINERE 1K
% E A - kTE ==X H = B {f & el 5 &
HEm (A)
A 23.00 51, 200. 00 1,177,600
A& (C)
A 23.00 32, 800. 00 754, 400
& B YEXREH : 1.00 1,932, 000. 00 1,932,000
&S :6
B HEBEEELANLORE T-IURBRIE 1=
% E A - BkTiE ==X H = B {f & el 5 &
F{EHED BRED)
A 2.00 57, 400. 00 114, 800
A (A)
A 3.50 51, 200. 00 179, 200
HEm (B)
A 5.00 40, 600. 00 203, 000
A& (C)
A 6.00 32, 800. 00 196, 800
& it fEErEH : 1.00 693, 800. 00 693, 800
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REERA XK G TR EEERRS

B&E:7
2 HBFEEHESESR BER () 1%
2 L R - KT =-Rivd = B & %8 fils
F AR GRED
A 1.50 57, 400. 00 86, 100
HEm (A)
A 1.50 51, 200. 00 76, 800
A& (B)
A 2.00 40, 600. 00 81, 200
HEm (C)
A 2.00 32, 800. 00 65, 600
& &t fEEEEH - 1.00K 309, 700. 00 309, 700
EES:8
2 EBTRREEK 1%
£ [ R - BKTE By = B £ % fits
F{EHED BRED)
A 1.50 57, 400. 00 86, 100
A (A)
A 1.50 51, 200. 00 76, 800
HEm (C)
A 2.00 32, 800. 00 65, 600
BT &
A 2.00 29, 000. 00 58, 000
& B YEZEEH - 1. 00K 286, 500. 00 286, 500
&S :9
2% EBERARE 1KLY
% b A - kTE By = B & %8 fi
EERARE
= 1.00 34, 252. 00 34, 252
& &t fEEEEH - 1.00K 34, 252.00 34,252
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H5:10
&% EBHRR X5
2 L R - KT By = B i & %8 fils
(ARG E
= 1. 00 30, 000. 00 30, 000
& H LE RN 30, 000. 00 30, 000




